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Run 5536 quartetwise, posH(O: Beam DH

Run 5536 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 17167 Entries: 10395

- Mean: -30.5488 +- 01567 | Mean: -0.4662 +- 0.0037

| Laser OFF Std Dev: 209274 +- 01129 | Std Dev: 9.5504 +- 0.0662
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B Mean: 13.5719 +- 0.0208 Mean: 1.3616 +- 00048 10395
— Laser OFF Std Dev: 2.7205 +- 0.0147 | Std Dev: 0.4933 +/- 0.0034 1.362
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Run 5536 quartetwise, negHO: Beam DIN

— Laser OM Entries: 17167 Entries: 103495
Mean: 1436457 +- 00227
Laser DFF Std Deyw: 2.8923 +/- 0.0 56

aami_lasl nagHD

Mean: 1.3733 - 0.0040 10385
Std Dev: 0.4968 +- 0.0034 1.373
= o 0.4968

B 10 12 14 16

-------- Histogram Vars
Positive Hel (ON): 13.571906 +/- 0.020833
Negative Hel (ON): 14.367716 +/- 0.022075
Positive Hel (OFF): 1.361563 +/- 0.004838
Negative Hel (OFF): 1.373314 +/- 0.004873

-------- Sums and Diffs

On Diff: -0.795810 +/- 0.003910

Off Diff: -0.011751 +/- 0.002361
On Sum: 27.939623 +/- 0.042747

Off Sum: 2.734877 +/- 0.009420
-------- Asymmetries
On Asym: -31.573818 +/- -0.164518 (ppt)
Off Asym: -0.466215 +/- -0.093675 (ppt)
-------- Bkgd Subtraction
BkSub Sum: 25.204746 +/- 0.043772

BkSub Asym: -31.107603 +/- 0.189318 (ppt)
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Run 5536 quartetwise, posHO vs time
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Run 5536 quartetwise, asymQOsub vs time
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Run 5536 quartetwise, negHO0 vs time

16 |

14 '5,‘_

121

10

o

.

(TR
|| | L1 1 | | || | L1 | | L1 1 | L1 1 | | || | | I | | L1 1 | || ui_m‘lﬂa
20 40 &0 B0 100 120 140 160 180 200

Entry$

= !ﬁhﬂ ANEER

=

Run 5536 quartetwise, bcm vs time
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